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or O4XS 

-SLy X 

Thus, S-61, i xeC9A3 
0,if K¢Co,1 

So, we proved X hos a unidofm distribution on OII 

CCO 

der O6ystS)-4d-lnx-ny 

Thus, fyly) = 5-lng, i Osys 
O, otherwise , 

cy y)-xl 
yhylw)= S*, dor OsyxE 

0, otherwise 

d) ECY)-ECYke)Sg6lbx 

, Oxs1 

CCn-taEI-{ 



uestio2åss uvioy of events on the right,it xEO albo tme p2-0)-0 Questiou 9 X10, be (ause eveut qu the lest is a 

oXs-Pkus25xRius2slg +PM <-ZsiK)= 
sfor 22o fer 2-0) 

=( a)+PC-K,z22-K)=. 
L)-4()+¢-)-G(-e)=" SYmmethc around O, so 

R)-ÞOUK)+(Uxa) = 9Ma)-2CIA) 
b) USg the result of a) and dor Xy=0, xa=X We get 
POXyE Xsxa)=24)-2do)-24()- 4-24()-

Gnd by chain nle: fW=PCOR)= ehrxe0 
Cbetayse xe0 aluays) otherwise 

uestion3 

CCKIN)=K h) 
xCATn-)#(tK So binoial b,P) 

K 

Gnd because of the iudomatiph we have a bout the 

expectation ot a binomial: E CKIN=n)=np 

b) Now ye call n)=£CKW=), 
SoCk/N) = n(N)= Np 

ond following ECK-¬Cn(w]-CLNp]- p£CW)E pd 
beCause N dollows lbison 
distributiou with Parameter 



uestion 
XBin (1500,4) 
Ownd now applymg the Central imt theorem we qet 

ond now oP 29495)=T -p)mP 

e yet 

949 5-P) 
PCX2 950) 

P{X23435)=P(X-np z 49,5-nP) 
nplt-p) 

Continuity Corféctio 

A- ( S495-150). 
1-4(151-¢(10.302) 

35 
375 



uestion 5 
a)Xand Y indefendent 
So 

y)=", OSXS1, 3sys4 
20, else 

(4-w 

-XtW 

(ONW 

C3-w3) Calculatiug the ayeas on the 

ga plh we get the dollowing Cdt

O, w<2

FKu= -sw3 Olea 

-C43sl<4 9<ue3:f(w)=hrea-(tw-3)-(4-G-w) 

Cw-2)(w-2)=4Cw-2) 

4:6(- Areas-C-)4-w) 

-C 
2 

b)VarCw)-E(w®)-LEMI7 

Viddesetiating the cdf we get: w=0, we2 

/w-2, 2sw<3 
)4-w, 3sWs4 

O W 4 

ECW- SwS(w)dw= w-2wdw+4w-wdw 

L tL2w =443 
ECW)-SwP(w)dw= w-2Wdwtw-wdw= 

-[-g L 

3 

43+6 MO 
12 12 A2 

tence, Var(w)- 1O -9-1 
6 

c) Y=x*3 = Y-X=3 

ar(Y-X)= Var(3)=0, because the vanonde od a 

Constant s 2ero 
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